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Maths By Pradeep Sir

~ e
3/,, / ,go, 5. Ql. Successive discounts of 30%, 20% and 5% amount to a single
V4 S ——_

discount of.
A +8- ArB

X ?ﬂama@wuﬁemzoamsuﬁama}sma@mm’

Do+ Q0 — J9UxP
A) 46% — ~
ML e N o @ 2123
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[50-c=ngy) [B)a68% |50/ |20
gt 5 (€)53.2% o
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Q2. A Brand offers three types of successive dis- counts:

U 9103 diet aeg 6l BfAs Beaar e

(i) 30% and 20% (ii) 40% and 10% —

(iii) 25% and 25% t& te-Are
100

Which offer is the best for a customer?

m@aaammmmmﬁmmzﬁa%’

lo[~
(A) First offer ® Sol 1o} 040- 3’%‘0 2 W

iy
| B)Secondoffer oLy ,m‘/- +|o,o\__y'}£/ 5 Ut

-(C) Third offer
N RO, op_e e 34225/
(D) All are equal @ ‘33/-,%/ AS +S - Jr(%(1:)50 628/ %‘433}8'/
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Q3. The difference between successive discounts of 25%
followed by 20% and 35% followed by 20% on the marked price
of an article is 32. The marked price of the articles is:

2 HARTA BT 25% 31T 20% TAAT 35% 3i1Z 20% 1 3ide 232 & ol a&q &I

gt e g } EH o . Are
(a)zsoo LS/ el | 3] )20
[E)eavo 7t 25 | a5t a-dre
o ‘o9 R / = 32
(c) 200 R < 5 209
(D) 600 dof |
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Q4. Mark price of a shirt is 4800 and it is being sold at

successive discounts of 25% and 162%. Its net selling price will

be:

e i€ 1 3ifdd U 2 4800 ¢ U 2 it BT 25% AAT16-% e

a<ft o 2t & ot sTee fAsha e Sid He

A)22420 | Ygoo hw oY

(8)23000 [+ |-iew | % &

(C) 2 2520 3¢o) R s
“‘?-?“:.L ~ €00 -

(D) 22450 '3 <l Mp &8-

T
3’ -)

L)

— xS

Ny

L[ = L

\.'
)

S—
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Q5. The marked price of a shirt is 150. After allowing two
successive discounts its price is 105. If second discount is 12.5%,
find the first discount.

TS Bt &1 3ifdd e 150 &. § 3 HANIA d¢ aat & d1¢ THDI o d
105 a;.%uﬁqazragn’zéu/ﬁ,amz’t,ahmagﬁmm%?

(A) 10%
(B) 15% e
s =g
bx\ (D) 40%
K N I
LT \ o
§|0§ o | %Q/
: X |06
Sp My TS

Y,
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Q6. A shopkeeper gives 3 consecutive discounts of 10%, 15%, and
15% after which he sells his goods at a profit of 30.05% on the CP.

Find the value of the % profit that the shopkeeper would have
earned if he had given discounts of 10% and 15% only.

U qbIeiare disl BfAc B el 10%, 15%, 15% a1 & S1dvjg 30.05%
&1 BTH HATAT g1 Al FHTIER 10% 302 15% &t & SInar ge ¢ al

3B B1H % SITd Hel
(A) 53% (B) 62.5%
(C) 68.6% (D) 51%
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Q7. Two shopkeepers announce the same price of 700 for a

sewing machine. The first offers successive discounts of 30%

2046 — SOR6 dotle ~ Q?Zi‘ and 6% while the second offers successive discounts of 20% and
A 16%. The difference in their discount price is:
26-1-8 A 2Q¢c-2. 9 2 gepTeTeTe € UV Hed € fb Ugest gabTeiare 3iuat faers Aefter ue
2 343 > 2.8 30% 3112 6% BT HAPT BT 21 3112 HA Feblatare ATt fAeTE aAefte
\/ TE 20% 312 16% &t Be 3 af el gepTerare & fAets efts &1 g
mmae7ooila‘lﬂa’t$gz_a}m3’wm
(GEALK:

1 d9k 1 v (c)z22.4 (D) 2 36.4
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QOO Q8. A shopkeeper offers 15% discount on all plastic toys. He offers a

further discount of 4% on the reduced price to those customers who pay
-151 | - 30 cash. What does a customer have to pay (in) in case of 200 is the price

of toy?

IET TS galelar Wifee s & Aaft fASIa a2 15% 6t Be aa1 21 38 351 Iea! 1 3ike
4% 6t e 2ar 1 Wit Awe PTaTe-Bza g fhHle200 & @@ & B3d ve
=Y |-¢.8 g i fdhdel side 2ifel (2 A) it gt 2

(A) 133.7 (B) 129.8

LI 63 (a (D) 153.3
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D 500 j Q9. A dealer buys a table listed at 1,500 and gets successive discounts of
J 20% and 10%. He spends 20 on transportation and sells it at a profit of
-0l | - 300 20%. Find the selling price of the table.
: TS U U a8 &1 el e 21,500 U Fdlear 21 3112 3& 20% d2A1 10% it
[/ 200 ammagzaﬂ_@_a?ﬁ%aena{zzo%aaaﬁ_mﬁmfmisﬁzazwzo%
ol - |- 1o @mﬂﬂmm%ﬁﬁmWMI
| (A) 1,420

[0R0 +20 lloo (B) 1,300

=
(c)1,320

[ Wx 120 (D) 1,3800

\9¢
3 ke TN e

ﬁ
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Y Q10. A dealer buys an article marked at 20000 with two

successive discounts of 20% and 5%. He spends 1800 on repairs
and sells it for 20000, what is his profit/ loss percent (correct to

[I € oocﬂ one decimal place)?
U $i5e 2 20000 3ifdd T BT BIE AT 20% 3412 5% B 3 HfAD

_5/ |- 8eo B¢ e @diadl 81 98 38! Aederd UL 2 1800 T dedl ¢ 312 38 2 20000

| _ 3 & a1 &1 3Aa1 191 E1A Wfderd (U gereiesd Rire ae) & 32
Llcsozo oj + IR 00 (A) 23.46% profit/ 121
(c) 17.65% loss | &fat (D) 23.64% loss/ gifat

o M
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QIl. An article is marked at 12.5% above CP. It is sold at by allowing a
3 discounts of 14.28%, x% and 22.22%. Find the value of x if there is
loss of 37.5% on article?

UHh d&q &1 ifbd 5 Fed A 12.5% ¢l He 3ifdsa far Iran &t diat
HiA® BT Hael: 14.28%, x% 3T 22.22% 33 & d1¢ a4 f3an af? a=q =i
99 U2 37.5% &l gt &2 al x BT AT SATd B

(A)12.5

(B) 16.66

(S RLAL:

(D) 22.22
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Q07 E /. QI12. Trader A gives a single discount of 25% and trader B gives two
‘2 5 I successive discounts of 20% and 5% on identical items. If the dis-
count given by A is 320 more than the dis- count given by B, then
Ao +5 - RexE what is the marked price (in) of the item?
— "‘95/‘" 4T A, 25%ﬁmmm%mmsmaﬁmwzo%aﬁz
9 %aﬁammm%mﬁﬁxmzﬁvﬁma 214 I B & 320 A
10 g a1 sifda e (zA) e ?
co . W
| X100 (c) 30000 (D) 25000
2 QW00
K
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QI13. A shopkeeper successive of A shopkeeper offers successive
-3 5. j —350 discounts of 35%, 10% and 6% on every item. At what price (nearest
_ to a rupee) customers can get an item, marked forZ 1,000?
[6501 T gHIIETE &2 a&q T 35%, 10% 31T 6% o1 i agT a1 21 21,000
3ifda e aTHl TH Aes fbda Fed (Adecas sur a&) T wile
-lof |- €5 T 2o
t 585 (A) 2645
r g (B) 2450
C) 2562

o

-

J
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Ql4. Three friends Rajni, Reshma and Sunil went to a market to
purchase party wear shirts whose costs were same. But each shirt was
available with two successive discounts. Rajni availed two successive
discounts of 20% and 5%, Reshma availed two successive discounts of
15% and 10% and Sunil availed two Successive discounts of 12% and 13%.
Who gets the maximum possible discounts?

it fatm Toretl, 22re 3k Helles darrat I &t urel fAae o wétea & BT
dIoie A1d £1 Sfbel Ul 2I€ &l A Be Uz 3uase ft1 2uieit &t 20% 3112 5%
ﬁz}aﬁasgzmg'{,2emaﬁ|5%%ﬁzm%a€maﬁa§3‘c’mgsﬁz
Foftes BI 12% 3 ) %ﬁa’lasﬁ'é\lz"gzmgflzﬂai‘ﬁa'ﬁm

O HTIdA 3¢ 'IT': e ? ‘2';/ ozg/\;lg/ ) R)’{V@

=\

(?:)gﬁi?ur/"qaﬂaa e ot ‘SL’J[’[" AR
(D)aaﬂaﬁmnga?ﬁo%{_ ] 3] - Sl
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Q15. 1/3rd of the total of an article is sold at a profit of 15%, 1/4th is at a
profit of 20% and the remained part is at a profit of 24%. If the total
profit is 6,240 find the cost price of the article.

faseft @ &1 1/3 3T 15 Ufdera 18 Uz, 1/4 o1 20 Ufderd 18 U2 d2t 2y
B 24 Ufderd S1ef U2 A= AT 2, A B 6240 &. 191 a1 2, A 9o BT HA

JaAa@difde- | < R AP

(A) 235000 T R i E
3\

() 31000 <0/ 630,

c) 32000 &F\‘“"f

(D) 31200
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Q16. If some articles are purchased for 2450 and one third sold at a

loss of 10%. At what gain percent should the remainder be sold so

as to gain 20% on the whole transaction?

132 2 450 A $B a&q3il S T@dter Aar g, 380> 1/3 AP B 10% gIfd U2
&1 I1T1 92 EC o1 &l fdhaa ufdera &1af w2 = ore fa @ da-3a A
dE 20% T8 YT &2

(A) 32%

(B) 35%

(C) 28%

(D) 30%
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Q17. A cloth merchant sold half of his cloth at 20% profit, half of the other
cloth at 20% loss and the rest was sold at his cost price. In the total

transaction, his gain or loss will be:

T HUST ATUTEL TS HUS B 20% ST U2 9T 9o FC HUS & TE HUS Bl 20%
gifal U2 d9at 21 99 gC HUS B! IAD B Hod U2 adT ATdl g1 I SoA-af A

IAB1 S 9 gifat ufderd 2-
(A) 5% profit (B) Neither loss nor gain
(C) 5% loss (D) 10% profit
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Q18. A dealer bought some toys for 21800. He sold 40% of these at a loss
of 15% and 33.3% of the remaining toys at 20% profit. At what percent

profit should he sell the remaining toys to earn an overall profit of 10%?

TS 3¢ ot B AR 21800 A w1 38A 31 & 40% I 15% 6l gfat U2
32 29 fASIAl & 33.3% Bl 20% S13f U2 a9 A1 10% BT AT S 3UfAa
&ea & AT 38 2y fASIE & fbaa ufdera S1a1 ug a<a aifze ?

(A) 20%

(B) 25%

(C) 30%

(D) 24%
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Q20. Anil buys 20 dozen oranges at 48 per Kg. If he sells 8 dozen oranges

at a profit of 10% and the remained at a profit of 20%, find the profit

percentage on the whole transaction.

AfRAS 20 Tofal daR 48 &. Ul eofal & aTg A wWétear ¢ af? 8 <ofa 10 ufded
T3] U2 d9aT § dAT 2 12 gofet 20 Ufdera S1af U2 duar ¢ af 38 $e fhaa
ufdera o1af g311-

(A) 10%

(B) 16%

(C)13%

(D) 12%




